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2055. Write Unit Test Code

Unit Test <TimeKeeping> - 1374

T epingTest {




setCurrentTimetest

setActiveFunctiontes

Function()

+

get_flagte

getCursortest

cur_cur




confirmTimetest
TimeKeep tk =
JButton button =
tk wTimeK i

button.s

btnl
btn4

2tting_tim

Ler

JButton




testsetAlar

JButton btnl JButton(
JButton btn4 JButton(

al.get_flag

testconfirmAlarm(){

Alarm al =
JButton btnl = new JButtc
JButton btn4 = JButten(




JButton(
JButton(

JButton(
JButton(




Unit Test <World Time> - 7H

changeCountryTest|

WorldTime worldTime WorldTim
JButton jbutton = JButton(

cursor, worldTime.getCursor(




WorldTime ] NorldTim
JButton jbutton = JButton(
jbutton.setText( )

) LinkedLis
countri
countri
countr

countri

country = countri

jbutton.se
worldTime. wt
jbutton.setTe

worldTime.




changeModeTest

WorldTime worldTime WorldTime

JButton jbutton JButton(

LinkedList

ountry, wor




jbutton.setTe

worldTime.work(jbutton)

countr
countrie
countrie
countrie
countri
1tri

t_countr

ountry, worldTime.get_

get_keyTest
WorldTime worldTime = WorldTime

String initCountry =

. 7

rtEq (1n1tCountry, worldTime.get_k




countries

Strinc

getCursorTes {

WorldTime worldTime = WorldT1me

worldTime.getCui

Unit Test <StopWatch> - 771

class [StopWatchTest {

[@Test

void resetStopWatchTest() {
Watch watch=new Watch();
StopWatch st=new StopWatch();

st.setStart(12);
st.setEnd(22);
st.setElapse(10);
st.setElapsePrevious(1);
st.setOn(true);

Calendar cal=Calendar.getInstance();
cal.set(Calendar.HOUR, 9);
cal.set(Calendar.MINUTE, 2);
cal.set(Calendar.SECOND, G);

st.setCal(cal);

Calendar callap=Calendar.getInstance();
callLap.set(Calendar.HOUR, 5);
callap.set(Calendar.MINUTE, 2);:
callap.set(Calendar.SECOND, 2):



st.setCallap(callap);
assertEquals( expected:
assertEquals( expected:
assertEquals( expected:
assertEquals( expected:
assertEquals( expected:

assertEquals( expected:
assertEquals ( expected:
assertEquals( expected:
assertEquals( expected:
assertEquals( expected:
assertEquals( expected:

12,st.getStart());
22,st.getEnd());
10,st.getElapse());
1,st.getElapsePrevious());
true,st.ison());

9,st.getCal().get(Calendar.HOUR));
2,st.getCal().get(Calendar.MINUTE));
5,st.getCal().get(Calendar.SECOND));
5,st.getCallap().get(Calendar.HOUR));
2,st.getCallap().get(Calendar.MINUTE));
2,st.getCallap().get(Calendar.SECOND));

JButton button=new JButton();
button.setText("Buttona");

st.work(button);
st.work(button);

assertEquals ( expected:
assertEquals( expected:
assertEquals( expected:
assertEquals( expected:
assertEquals( expected:

0,st.getStart());
0,st.getEnd());
0,st.getElapse());
0,st.getElapsePrevious());
false,st.isOn());

assertEquals( expected: 0,st.getCal().get(Calendar.HOUR));
assertEquals( expected: 8,st.getCal().get(Calendar.MINUTE));
assertEquals( expected: 0,st.getCal().get(Calendar.SECOND));
assertEquals( expected: 0,st.getCallap().get(Calendar.HOUR));
assertEquals( expected: B,st.getCallap().get(Calendar.MINUTE));
assertEquals( expected: 0,st.getCallLap().get(Calendar.SECOND));

@Test

void startStopWatchTest(){

Watch watch=new Watch();

StopWatch

st=new StopWatch();

st.setOn(false);

JButton button=new JButton();
button.setText("Button2");
st.work(button);

assertEquals( expected: true,st.isOn());



@Test

void stopStopWatchTest(){
Watch watch=new Watch();
StopWatch st=new StopWatch();

st.setOn(true);

JButton button=new JButton();
button.setText("Button2");
st.work(button);

assertEquals( expected: false,st.isOn());

@Test

void stopStopWatchTest(){
Watch watch=new Watch();
StopWatch st=new StopWatch();

st.setOn(true);

JButton button=new JButton();
button.setText("Button2");
st.work(button);

assertEquals( expected: false,st.isOn());

@Test

void storeLapTimeTest(){
Watch watch=new Watch();
StopWatch st=new StopWatch();

st.setOn(true);

st.setElapse(36000);

JButton button=new JButton();

button.setText("Buttonl");

st.work(button);

assertEquals( expected: 10,st.getCallap().get(Calendar.HOUR));

assertEquals( expecied: B,st.getCallap().get(Calendar.MINUTE));
assertEquals( expected: B,st.getCallap().get(Calendar.SECOND));



void getStopWatchTestInON(){

Watch watch=new Watch();
StopWatch st=new StopWatch();

JButton butten=new JButton();
button.setText("Button4");
st.work(button);

st.setOn(true);

/Ll this.end=calculateTime(this.end, this.cal);

/7 this.ela this.elapsePrevious+(this.end-this.start);

// splitElapse(elapse, this.cal);

st.setElapsePrevious(1860);

st.setStart(0);

st.setEnd(1800);

st.calculateTime(st.getEnd(),st.getCal());
st.setElapse(st.getElapsePrevious()+(st.getEnd()-st.getStart()));
st.splitElapse(st.getElapse(),st.getCal());

assertEquals( expected: 1,st.getCal().get(Calendar.HOUR));
assertEquals( expected: 0,st.getCal().get(Calendar.MINUTE));
assertEquals( expected: 0,st.getCal().get(Calendar.SECOND)) ;|

@Test
void getStopWatchTestInOFF(){

Wateh watch=new Watch():
StopWatch st=new StopWatch();

st.setOn(false);

Calendar cal=st.getStopWatch();

assertEquals( expected: B,cal.get(Calendar.HOUR));
assertEquals( expected: B,cal.get(Calendar.MINUTE));
assertEquals( expectsd: 0,cal.get(Calendar.SECOND));

Unit Test <D-day> - 674

class DdayTest {

@Test

void setDdayTest() {
Watch watch=new Watch();
Dday d=new Dday();

d.setFlag_set(0);
d.setSetting_page(null);

JButton butten=new JButton();
button.setText("Buttonl");
d.work(button);

assertEquals( expected: 1,d.getFlag_set());
assertEquals( expected: ,d.getCur_cursor());

assertEquals( expected: "AAA",d.getSetting_page().get_memo());



@Test

void moveCursor_Dday_Test(){
Watch watch=new Watch();
Dday d=new Dday();

//if && if

d.setCur_cursor(2);
d.setString_cur(2);

d.setFlag_set(1);
d.setSetting_page(null);

JButton button=new JButton();
button.setText("Buttonl");
d.work(button);

assertEquals( expected: 0,d.getString_cur());
assertEquals ( expected: ©,d.getCur_cursor());
//if&&else

d.setCur_cursor(2);

d.setString_cur(1);

d.setFlag_set(1);

d.setSetting_page(null);

d.work(button);

assertEquals( expected: 2,d.getString_cur());
assertEquals( expectzd: 2,d.getCur_cursor());

d.setString_cur(Q);
//else
d.setCur_cursor(7);
d.setFlag_set(1);
d.setSetting_page(null);
d.work(button);

assertEquals( expected: 1,d.getCur_cursor());



vu.id showNextDdayTest(){
Watch watch=new Watch();
Dday d=new Dday();

d.setFlag_set(0);
d.setSetting_page(null);

JButton button=new JButton();
button.setText("Buttonl");
d.work(button);

dday_data current_page;

current_page = new dday_data();
current_page.set_memo(d.getSetting_page().get_memo());
d.setCurrent_page(current_page);

button=new JButton();

button.setText("Button2");
d.work(button);

assertEquals( expected: "AAA",d.getCurrent_page().get_memo());

3

@Test
void plusDayTest(){
Watch watch=new Watch();
Dday d=new Dday();
d.setFlag_set(1);
d.setCur_cursor(@);
dday_data setting_page=new dday_data();
Calendar cal= Calendar.getInstance();

cal.set(Calendar.MONTH,10);

setting_page.set_cal(cal);
setting_page.set_memo("aaa");

d.setSetting_page(setting_page);
JButton button=new JButton();
button.setText("Button2");

d.work(button);

assertEquals( expected: 11,d.getSetting_page().get_cal().get(Calendar.MONTH));
H

@Test
void deleteDdayTest(){

Watch watch=new Watch();
Dday d=new Dday();

d.setFlag_set(0);

dday_data current_page;
current_page = new dday_data();
current_page.set_memo("111");

d.setCurrent_page(current_page);
d.getDdayQ().clear();

JButten butten=new JButten();
button.setText("Button4");
d.work(button);

assertEquals( expected: null,d.getCurrent_page());



@Test
void confirmDdayTest(){

Watch watch=new Watch();
Dday d=new Dday();

d.setFlag_set(1);

dday_data setting_page=new dday_data();
Calendar cal= Calendar.getInstance();
cal.set(Calendar.MONTH,10);

setting_page.set_cal(cal);
setting_page.set_memo("nol");
d.setSetting_page(setting_page);

JButton button=new JButton();
button.setText("Button4");
d.work(button);

assertEquals( expected: "nol",d.getCurrent_page().get_memo());



Unit Test <Timer> - 117}
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2061. Unit Testing

TimeKeep

Alarm

WorldTime



WorldTimeTes

WorldTimeTe

WorldTimeTe

WorldTimeTe

WorldTimeTe Bl eCountryTest

WorldTimeTe > nextCountryTe

StopWatch

Run: StopWatchTest o —
P VO 1 T = FOQK 2%
StopWatchTest 35
getStopWatchTestinOFF()
stopStopWatchTest()
resetStopWatchTest()
- startStopWatchTest()
storeLapTimeTest()
» getStopWatchTestinON(Q
oGt =gTtopo | ® £Run B Terminal
Dday
Run: DdayTest be
PO 1 = T ;O X2 S
Test Results
DdayTest
confirmDdayTest()
moveCursor_Dday Test()
showNextDdayTest()
22 plusDayTest()
JEPETIE SN
» de Tests passed: 6
g Git i= g TODO > .5; Run ™ Terminal

Run only tests that failed/crashed after last run; press Shift to choose Run/Debug mode




mTimer

FunctionActivator

FunctionActiv: > onOffFunctionTes

FunctionActivatorTest >

FunctionActivatorTest > get_modeQTest

> get_position]

FunctionActivatorTest > get_activeTes

FunctionActivatorTest > confirmActiveTes

FunctionActi







2062 System Testing

Tes | Test &= Description Function
t
No.
1 Show | X AlZtE &, &, QY(CIHo| 2t), Al, &, X, ¢ =MCHE 3| showTimeKee
Time E ASt=X] test ping
Test
2 Show | AMSXF7F MEEH AlZHE &, &, LY (CIC|of 2t), Al &, =, = &=ACHE | showTimeKee
Time | 80| EA|St=X] test ping
Test
3 Show | #&H A|zZ+O| 1Z=0tCH 1M S7H5H= K| test showTimeKee
Time ping
Test
4 | SetTime | #XH A7t 2E0|M setTimeHHE 2 =312 [l setTime2 2 T E|=X] test setCurrentTim
Test e
5 | SetTime | #&{ A2t ZE 9| setTimeOllM (+1)HES 7S f &, &, 2(C|d|o] setCurrentTim
Test gt Al 8, &, & & HM7I fIx[8t 2Lo] 1 B7t5t=X] test e
6 | SetTime | #9Xl| AlZt ZE 9| setTimed| M nexttHE S =312 [ M7} CHS textviewR | setCurrentTim
Test 0|&3st=X| test e
7 Set grat D Eof| M setAlarm HE S S S setAlarm2 2 T | =X] test setAlarm
Alarm
Test
8 Set setAlarm 2E0HMH HE1E FE2EHM HM7}t & 0|SsH=X| test setAlarm
Alarm
Test
9 | Set setAlarm ZEOAM HE 28 2™ 1M & S7IE|EX| test setAlarm
Alarm
Test
10 | Set setAlarm ZE0|M HE4E =TS Cl|O|E7 & XHE ERE=X| EHAE setAlarm
Alarm
test
11 Delete | L8 ZEOUM HE4E SIS 7|E 23 ClOIE{7} & XXX OFFE EA| | DeleteAlarm
Alarm | El&=X| &2l
test
12 Show | €& SIHO| SHIZH EA| showAlarm
Alarm
Test
13 | Sound EX7I & 22|12 AlZto| AH E|l=X| HAE OnBuzzer




Buzzer

Test
14 | Turn Off | &+ E 5 &5 EX{7| & SR L|EX| HAE TurnOffBuzzer
Buzzer
Test
15 | Buzzer |HX{Q| 2 AlZHO| & HAE|T 00 X7l SREEI=X| HAE getLeftTime
Timeout
16 | Watch |LI2tE HAEStIIA HES =72 W, Lt2tE £siF= 0| 1&0tct WatchWorldTi
World | Z#7{2|=X]| Test me
TIme
Test
17 | Watch | MA AlZt2 &, &, X9, Al &, =, HE = M2 3tHof| 2o{F =X Test WatchWorldTi
World | LI2IE *"%ﬂ':._ CTEHE S =t PEE HE IS W, ME S Lieket me,
Time | AlZHE &t 20{F =X Test ChangeMode
Test
18 | Watch |UEIE MHSIEH 5 HE 48 s MESIGS mf, M{Est Liztel Azt confirmCountr
World | &0 20{F=X| Test y
TIme
Test
19 | Change |70l MEE LIEI =MOI2 & Y X[, Al &, &, ¢ =MCHE 3HHO| changeCountr
Country | 20iF=X| Test y
Test
20 Reset | A& x[et #tHE H-E0| Z7|3 E|=X] test resetStopWatc
StopWat h
ch test
21 Start | A5 X7t AR EI=X] test startStopWatc
Stopwatc h
h test
22 | Stop A g HXI7F HFE=X] test stopStopWatc
StopWat h
ch test
23 | StoreLap | B E}O| KME E|=X], & Et0| MCHE HAHE|=X] test storeLapTime
time test
24 | Show |2AF x|Q| BItA|ZtE KMCHE H|4tstod 8tHO| E Al St=X| test getStopwatch
stopWatc
h test
25 | Set Dday | C|d|O|2t Clol|o| HIZ27F MHE|I=X] test setDday
test
26 | SetDday | ClCi|o] A& Al 7HA{7} 2 &35t=X] test setDday




test

27 | SetDday | ClCi|o] & Al A[ZkO| &7tet=X]| test setDday
test
28 | SetDday | C|Ci|0|7} M 2t2 E[=X] test setDday
test
29 Show | CtZ C|H|0|7F £ E|=X] test showNextDda
Next y
Dday test
30 | Delete |CICIO|7} AFK|E|=X] test deleteDday
Dday test
31 Show |El 7|E 2E9| @ textViewd $4A| dm 2 ™ E C|O|0|7F EAE[=X| showDday
Dday test
32 Show EfOo|He| A|, &, &7} Z7|ZICHE 3 Hol| EA|L|EX]| test getTimer
Timer
Test
33 Show | EO|HO| Al, 8, =7} A&t A|ZHCHZ 3| E AT/ = K| test getTimer
Timer
Test
34 Set ElO| EE 0| A setTimertHE S = ] setTimer2 X E|=X| test setTimer
Timer
Test
35 Set ElO|H 2 E9| setTimerdlM (+1HES SIS M Al, B, & & HM7} /I8t setTimer
Timer | Z2f0| 1% Z7}3t=X]| test
Test
36 Set Elo|H 2 E9| setTimerd| M nexttHE S =72 [ 7HM 7t CHS textview 2 setTimer
Timer | O|S3t=X] test
Test
37 Start | EFO|H7} X|HE A ZRE 1ZM ZASHEX]| test startTimer
Timer
Test
38 | Pause |EO|M7} AlZF El HEHOIM Pausedl SHiESt= HES SRS M Al, 8, =7t pauseTimer
Timer | YAIEX|GH=X] test
Test
39 Stop EFO|H7} AlZl, &2 PauseE &EHO|M Stopol| ST st HES =32 M stopTimer
Timer |OA|OE0XZ X 7|3HE|EX] test
Test
40 Set on/off, 7| O|&2 =AMCHE 3| E0o{F=X| Test setActiveFunct
Active |HE1E S8 CS 7Is22 Ho{7tH ChR 7|50 CHEt on/offet 7|S Ol S ion
Function | &ZMCHE StHO| E0{F=X| Test




Test

41 Set 34Xl 7|50 HE 2& =2 on -> off E2 off -> on2 2 M&tst [, EHO| setActiveFunct
Active | E|=X] test ion
Function | M5t LI 0| E04F=X] test
Test
42 Set 3749l 7|s2 &/dst, 2719 7|s0| HIE-ES EIRE M, HE 48 FE2E™ setActiveFunct
Active | MZ0| £/ TimeKeeping ZEZ H0{7}=X]| Test ion
Function | &3tE! 7|S0[ 3747} ot [, HE 48 +EMTimeKeeping ZEE
Test =Ho{7t= K| Test
43 | Change |mode0l| siiEst= HES =2 Ml OIS ZEE HEE[=X] test changeMode
Mode
Test
44 | ShowNex | 20| 5Lt O|4 MHE[0] Q2 [ nextol| HE 5t HES FEMCIS showNextAlar
tAlarm | &&& E0{&ELC}. m

2063 Testing Traceability Analysis

System Testing System Function Essential Operation in sequence diagram
No. Use Case
1,2,3 showTimeKeeping Show 01, 041, 042
Current
Time
456 setCurrentTime Set Current | O1, 02, 03, O4
Time
7,8,9,10 setAlarm Set Alarm 09, 010, 011,012
When |
Want
13 OnBuzzer Sound 06
Buzzer
14 TurnOffBuzzer Turn Off 05
Buzzer
11 Delete Alarm Delete 014
Alarm
12 Show Alarm Show Alarm | 044
15 getLeftTime Buzzer 07, 08
Timeout




16,17 WatchWorldTime

19 changeCountry

21 StartStopWatch

22 stopStopWatch

20 resetStopWatch

24 getStopWatch
getLaptime

23 storeLapTime

25,26,27,28 setDday

31 showDday

30 deleteDday

29 showNextDday

37 startTimer

34,35,36 setTimer

38 pauseTimer

39 stopTimer

32,33 getTimer

40,41,42 setActiveFunction

43 Change Mode

Watch 046, 047
World Time

Change 034, 035
Country

Start 030
StopWatch

Pause 031
StopWatch

Reset 032
StopWatch
ShowStopW | 033

atch

WatchLapTi | O28

me

StoreLapTi | 029

me

Set D-day 022, 023, 025, 027
Show D-day | O45
Delete 026
D-day

Show Next | 024
D-day

Calendar

Start Timer | 015, 040
Set Timer 016, 019, 020, 021
Pause 017
Timer

Stop Timer | O18
Show Timer | 040

Set Active 048, 049
Function

Change 043

Mode




44 showNextAlarm show next 049
Alarm
O - number Operation in sequence diagram

01 setCurrentTime()

02 plusTime_time()

03 moveCursor_time()
04 confirmTime()

05 turnOffBuzzer()

06 onBuzzer()

o7 getleftTime()

08 subTimeBuzzer()
09 moveCursor_alarm()
010 plusTime_alarm()
O11 confirmAlarm()

012 setAlarm()

013 getAlarm()

014 deleteAlarm()

015 startTimer()

016 setTimer()

017 pauseTimer()

018 stopTimer()

019 confirmTimer()

020 moveCursor_timer()
021 plusTimer()

022 setDday()

023 moveCursor_Dday()
024 showNextDday()




025 plusDay()

026 deleteDday()

027 confirmDday()

028 getLapTime()

029 storeLapTime()

030 startStopWatch()
031 stopStopWatch()
032 resetStopWatch()
033 getStopWatch()

034 changeCountry()
035 confirmCountry()
036 nextActivateFunction()
037 confirmActive()

038 onOffFunction()

039 get_active()

040 getTimer()

041 showTimerKeeping()
042 gettime()

043 changeMode()

044 showAlarm()

045 showDday()

046 get_key()

047 get value()

048 setActivateFunction()
049 showNextAlarm()

Operation in sequence diagram | M-Link




setCurrentTime() M2, M69, M72
plusTime_time() M8, M69, M72
moveCursor_time() M6, M69, M72
confirmTime() M9, M69, M72
turnOffBuzzer() M20, M25, M69
onBuzzer() M21
getleftTime() M20
subTimeBuzzer() M22

moveCursor_alarm()

M17, M18, M69, M72

plusTime_alarm() M15, M69, M72
confirmAlarm() M14, M69, M72
setAlarm() M13, M69, M72
getAlarm() M19

deleteAlarm() M16, M69, M72
startTimer() M51, M69, M72
setTimer() M56, M69, M72
pauseTimer() M55, M69, M72
stopTimer() M54, M69, M72
confirmTimer() M59, M69, M72
moveCursor_timer() M57, M69, M72
plusTimer() M58, M69, M72
setDday() M11, M69, M72
moveCursor_Dday() M46, M69, M72
showNextDday() M45, M69, M72
plusDday() M47, M69, M72
deleteDday() M44, M69, M72
confirmDday() M48, M69, M72
getLapTime() M38, M69, M72




storeLapTime() M37, M69, M72
startStopWatch() M31,M34
stopStopWatch() M32, M69, M72
resetStopWatch() M36, M69, M72
getStopWatch() M33,M34,M35
changeCountry() M26, M69, M72
confirmCountry() M30, M69, M72
nextActivateFunction() M61, M69, M72
confirmActive() M68, M69, M72
onOffFunction M65, M69, M72
get_active() M65
getTimer() M52
showTimerKeeping() M1, M5
gettime() M5
changeMode() M71, M69
showAlarm() M12
showDday() M43

get_key() M29
get_value() M27
setActivateFunction() M60, M69, M72
showNextAlarm() M19, M72, M11




MID | Method Unit Test Class
M1 | showTimeKeepi | showTimeKeepingtest TimeKeeping
ng()
M2 | setCurrentTime( | setCurrentTimetest
)
M3 | addseconds() addsecondstest
M4 | getdday() getddaytest
M5 | gettime() gettimetest
M6 | moveCursortime | moveCursorTimeTest
()
M7 | getCursor() getCursortest
M8 | plusTimetime() [ plustimetest
M9 | confirmTime() confirmTimeTest
M10 | setdday() setddaytest
M11 | showNextAlarm( Alarm
)
M12 | showAlarm()
M13 | setAlarm() testsetAlarm
M14 | confirmAlarm() | testcomfirmAlarm
M15 | plusTimealarm() [ testplusTime_alarm
M16 | deleteAlarm() testdeleteAlarm
M17 | moveCursorAlar | testCursor
m()
M18 | getCursor() testCursor
M19 | getAlarm() testplusTime_alarm
M20 | getLeftTime() testonBuzzer Buzzer
M21 | onBuzzer() testonBuzzer
M22 | subTimeBuzzer( | testsubTimeBuzzer
)
M23 | soundBuzzer()




M24 | turnoffBuzzer() | turnOffBuzzer
M25 | watchWorldTim WorldTime
e()
M26 | changeCountry( | changeCountrytest
)
M27 | getValue() get_valuetest
M28 | nextCountry() nextCountryTest
M29 | getKey() get_keytest
M30 | confirmCountry( | confirmCountryTest
)
M31 | startStopWatch( [ startStopWatchtest StopWatch
)
M32 | stopStopWatch( | stopStopWatchtest
)
M33 | getStopWatch() | getStopWatchtestinoff
getStopWatchtestinon
M34 | calculatorTime() | startStopWatchtest
M35 | splitElapse() getStopWatchtestinon
M36 | resetStopWatch | resetStopWatchTest
()
M37 | storeLapTime() | storeLaptimeTest
M38 | getLapTime() storeLaptimeTest
M39 | showStopWatch
()
M40 | setDday() setDdaytest Dday
M41 | getDday()
M42 | getCursor() moveCursor_DdayTest
M43 | ShowDday()
M44 | deleteDday() deleteDdayTest
M45 | showNextDday() | showNextDdayTest
M46 | moveCursor_Dd | moveCursor_DdayTest

ay()




M47 | plusDday() plusDayTest
M48 | confirmDday() confirmDdayTest
M49 | cmpday()
M50 | showTimer() Timer
M51 | startTimer() startTimertest
M52 | getTimer() getTimertest
M53 | get_flag() getFlagTest
M54 | stopTimer() stopTimertest
M55 | pauseTimer() pauseTimertest
M56 | setTimer() setTimertest
M57 | moveCursor_tim | moveCursor_timertest
er()
M58 | plusTimer() plusTimertest
M59 | confirmTimer() confirmTimertest
M60 | setActivateFunct | setActiveFunctiontest FunctionActivator
ion()
M61 | nextActivateFun | nextActivateFunctiontest
ction()
M62 | get_active_coun [ get_active_counttest
t()
M63 | get_ modeQ() get_modeQtest
M64 | get_position() get_position_test
MG65 | get_active() get_activetest
M66 | get_active_nam [ get_active_name_test
e()
M67 | onOffFunction() | onOffFuctionTest
M68 | confirmActive() | confirmActivateTest
MG69 | pressButton() Watch
M70 | display()
M71 | changeMode() changeModetest




M72

work()

Mode




